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QUESTION 1

Your client has three requirements: 

1.

 Apply validations on meter reads coming from the Data Collectors. 

2.

 If a meter read does not pass the validation, an error will be generated and assigned to a user. 

3.

 Retry the validation every 30 minutes for the errors in case the issue is related to configuration. Which statement
describes the base functions you should use? 

A. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-COMP-TD (Complete To Do Entries). 

B. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-IMD-RETRY (Retry Initial Measurement Data Processing) 

C. If a To Do entry is created on the VEE exception, the user will need to discard the IMD and a new IMD will be loaded
after 30 minutes. 

D. If a To Do entry is created on the VEE exception, the IMD\\'s Next Retry Date/Time is set to 30 minutes, and then
processed by the algorithm D1-CRE-IMDTD (Create To Do) 

E. If a To Do entry is created on the VEE exception, the user will need to discard the IMD and a new IMD will be
manually loaded. 

Correct Answer: D 

 

QUESTION 2

Which three statements are true in relation to Financial Transaction creation algorithms? (Choose three.) 

A. They control how the payoff balance is affected. 

B. They control when a Financial Transaction is to be swept onto a bill. 

C. They control how the General Ledger details are created as these must always exist against a Financial Transaction. 

D. They control if and how the General Ledger entries are created. 

E. They control how the current balance is affected. 

Correct Answer: ABD 

Reference: https://docs.oracle.com/cd/E18733_01/pdf/E18368_V1_01.pdf 
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QUESTION 3

When configuring the Get Scalar Details usage rule, which three attributes can be defined to retrieve scalar values?
(Choose three.) 

A. Unit of Measure 

B. Device ID 

C. Service Quantity Identifier 

D. Time of Use 

E. Service Point ID 

Correct Answer: BDE 

 

QUESTION 4

What happens when a device\\'s measuring components are reconfigured (a new measuring component will be read) at
a service point? 

A. A device with a new configuration type is created. 

B. The original installation event is updated with the "removal" (expire old device configuration). 

C. A device with a new configuration type is created. Moreover, a new installation event is created to `install" (new
device configuration). 

D. The original installation event is updated with the "removal" (expire old device configuration) and a new installation
event is created to "install" (new device configuration). 

E. A new installation event is created to "install" (new device configuration). 

Correct Answer: D 

 

QUESTION 5

Within the application, operational devices can be assets or components. 

Which two statements are true about components? (Choose two.) 

A. Components are attached to assets. 

B. Components have a disposition that tracks their location and status. 

C. Components can be installed at locations. 

D. Components are not a class of assets. 

E. Components can\\'t have specifications. 

Correct Answer: AC 
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